tY2A(t)

a1 = 1.000000, ap = 1.000000
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tY2A(t)

a; = 1.105263, ay = 0.904762
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tY2A(t)

a; = 1.210526, ay = 0.826087
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tY2A(t)

a; = 1.315789, ay = 0.760000
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tY2A(t)

a; = 1.421053, ap = 0.703704
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tY2A(t)

a; = 1.526316, ay = 0.655172
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tY2A(t)

a; = 1.631579, ay = 0.612903
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tY2A(t)

a; = 1.736842, ay = 0.575758
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tY2A(t)

a; = 1.842105, ay = 0.542857
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tY2A(t)

a; = 1.947368, a, = 0.513514
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tY2A(t)

a; = 2.052632, ay = 0.487179
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tY2A(t)

a; = 2.157895, ay = 0.463415
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tY2A(t)

a1 = 2.263158, ay = 0.441860
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tY2A(t)

a1 = 2.368421, ay = 0.422222
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tY2A(t)

ay; = 2.473684, ay = 0.404255
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ay; = 2.578947, ay = 0.387755

10

=
B ) EAesy TRt SENGTRNS SSUMUER ) RSO Sl SRS (o
= 5
L N P T T s
10 . i i .
0 2000 4000 6000 8000 10000



tY2A(t)

a; = 2.684211, as = 0.372549
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tY2A(t)

ay; = 2.789474, ay = 0.358491
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tY2A(t)

ay; = 2.894737, ay = 0.345455
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tY2A(t)

a1 = 3.000000, ay = 0.333333
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